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Directions to candidates:

Write your name at the top of this question paper and each of the 5 sections that
are to be handed in.

All 5 questions are to be attempted

All questions are to be answered on separate pages and will be collected
separately at the conclusion of this exam.

All necessary working should be shown for every question.

Full marks may not be awarded for careless or badly arranged work.




QUESTION 1

(a)

(b)

(©)

(d

(e)

®

(Start a new page)

Find the value of 237> correct to two decimal places.

Express 0-23 as a fraction in its simplest form.

Find the value of correct to 3 signiﬁcaht figures

8+2x%x5

A
(L+7)"

() N if 4 = 80000, » = 0-056 and n = 6.

In the formula N = find

@ 7 if N = 5000, 4 = 9000 and n = 10.

A shop has a sale in which all items are sold with 12% off the marked price. A

blouse was purchased for $158.40. What was the marked price?

Expand (3m + 2)(m + 1).

xpand and simplify (3% + 20(x - 2) — Q2x + 3.
(1 _ (

Rationalise the denominator of
JE +2
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QUESTION 2 (Start a new page)

(a) Factorise fully: (Q \O
(@ x*+ 16x + 63.° (é;
() 3¢ - l6x+5 o &
@ 56 — 40 N e
N
(b) Simplify 35 — 20 + V/45. &
/
\\PJ /
. . X 2 :
@Slmphfy = 16 7_24 //\
(d) Solve
. 5
@ 2 - x >
Gi .5.’_"__’”"'3:4-”1 i
2 5 =
T
@6(% ~9)— 5a —4) = 3a
- B

(e) A ball is dropped from a height of 2 metres onto a hard floor and bounces. After
each bounce, the maximum height reached by the ball is 75% of the previous
maximum height.

What is the maximum height reached after the third bounce?

e
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QUESTION 3 (Start a new page)

(a) Solve 2x* — 4x -7 =0

@ Solve 3
x + 1

(c) Solve the simultaneous equations
3x+y-26=0
46 + y = 5x

= 4dx

(d) (/) Solve Jx + 2| < 3.

(ii) Graph your solution to (i) on a number line.

(e | A NOT TO SCALE
34 cm ycm
4.1cm 7 cm
B > C
18.7 cm
ABC is a triangle.
RT is drawn parallel to BC.

- 3O
1S=*¥SY =t

<% FD”

(?)%-‘rk«b:%~>s

Ve %:26-- QS-:. -M:S: - Dz
(5w vty

S weg

Z’C: 0

AR = 34cm; RB = 41cm; AT = yecm; BC = 187 cm; and TC = 67 cm

() Prove AART and AABC are similar.

(i) Find y, correct to one decimal place.
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QUESTION 4 (Start a new page)

. 52 4+ 117
(2) Evaluate, correct to two decimal places 208 - 112

® A D
/ \ NOT TO SCALE
O

S ST - CX2%
\x S SO = e tlOxnzh
X
B C Y
< =

{ &

A circle of radius 5 cm is drawn in a square ABCD as shown.
O is the centre of the circle.

OC = (5§ + x) cm.

Find the exact value of x.

Ca
NOT TO SCALE

(©)

'R(

In the diagram; ABCD is a square; P, Q and R lie on AB, BC and CD
respectively such that AP = BQ = CR.

(i) Prove APBQ and AQCR are congruent.

(i) Prove ZPQR is aright angle.

Question 4 is continued on the next page
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QUESTION 4 (Continued)

(d) | P
NOT TO SCALE M

Q R N

APBR is an isosceles triangle in which:
PQ = PR;

ZQPR = 104°;

QR is produced to N;
QM bisects ZPQR;
RM bisects ZPRN

(/) Draw a neat sketch and mark on it all the given information. 1
(if) Find the size of ZPQR. Give reasons for your answer. 2
(#i7) Find the size of ZQMR. Give reasons for your answer. 2
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QUESTION § (Start a new page)

(@) If fix) = 2x* — x find f(1)

2-x* if x20
(®) If gx) = : find g(4).
3—x if x<0
@For the functlon f(x) = x* + 3x find: A g/\/
@ f(x + h)
(@) fx+h) - fix)
: 70 -
(d) For each of the following functions write down the domain:
B y=x+2 ,
o _
@) y=- .
X : I
(i) y=~9-x xT+*=7. ;
() y=|x-3|

(e) Sketch the graph of each function and state the range

@B y=x+5

@) y=-3x>+ 6x 2t b= Sy 5:(,(:\1-1‘3

i) y = —— '
x-3

vy y = |2x - 3]
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REPLACE PAGE #6 WITH THIS PAGE

QUESTION 4 (Continued)

(d) P ‘
NOT TO SCALE M

APQR is an isosceles triangle in which:
PQ = PR;

ZQPR = 104°;

QR is produced to N;
QM bisects ZPQR;
RM bisects ZPRN

@) Copy the above diagram and mark on it all the given information.
(i) Find the size of ZPQR. Give reasons for your answer.
@#iD) Find the size of ZQMR. Give reasons for your answer.
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